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S BAUEAHALS (&9 HM

- _ _ ME
A B2 S(3I) - MRAY - B8 ko O Ak 04 e
Al 152,500
05 2zte&= 305,000 265,000 40,000
OFUEHUEHEZS 305,000,000 305,000
) 76,250
< 76,250
Al 152,500
AEAyol(4E)?2s 29 9,600 4,800 4,800
201 el 8,400 4,200 4,200
01 Ar= 2l 8,400 4,200 4,200
OFALHM (MBS 2HHL
70,0002 8 *153] 8,400
301 LEEHS 1,200 600 600
10 HALEHIE A S 1,200 600 600
OZMEAN (4 E)AAS 22l
10,0003 «8& 152 1,200
MRAANEEE 712,366 712,366 0
LS 624,236
Al 88,130
307 212+old 712,366 712,366 0
= 624,236
Al 88,130
02 UABHEX 712,366 712,366 0
OFUQIANELEZY 712,366,000 712,366
= 624,236
Al 88,130
JAEEL ANE30 136,783 123,100 13,683
= 109,427
& 13,678
Al 13,678
307 22told 136,783 123,100 13,683
= 109,427
= 13,678
Al 13,678
02 UABHEX 136,783 123,100 13,683
OZUENAESN 136,783,000& 136,783
= 109,427
= 13,678
Al 13,678
HUQLTAE AASAHSAMA EF22E 103,947 90,450 13,497
LS 31,184
Al 72,763
307 22told 103,947 90,450 13,497
& 31,184
Al 72,763
02 B HE X 103,947 90,450 13,497
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¥ 22 AMUAZMEIA XS
SRl AEAMY (&9 &)
- _ = PSS
SA-EFH - SA(SAH) - MREAY - BES Off &F OH ioﬂ/i\_FOH BlusZ
OBUQAANE BAK SEx22+ES X
103,947,000 103,947
= 31,184
Al 72,763
FHRAANLESHSHXA 2,000 2,000 0
= 2,000
307 2I2told 2,000 2,000 0
(= 2,000
02 QItFAEX 2,000 2,000 0
OFAMRLAANLSSH=HI 2,000,000& 2,000
S 2,000
XIOH 22l At 10,000 9,000 1,000
201 EH2HH| 8,000 3,000 5,000
01 AFR22iHl 8,000 3,000 5,000
OXIO X Hagxz1d 243
200,000& *30=! 6,000
OXfZelNg EE2 ¢ 425 7
500 «2Z+2,0000H 2,000
307 2120l & 2,000 6,000 A4,000
01 SI2€ 2l 2,000 6,000 24,000
OXIOH X2 Mdl XI& 200,000& «10& 2,000
XNOHoE & SSs2cl 7,320 20,000 212,680
= 3,660
Al 3,660
307 2I2told 7,320 20,000 A 12,680
= 3,660
Al 3,660
01 SI2€ <2l 7,320 20,000 212,680
OXIoho e & SS2el(XHEIIZE)
7,320,000& 7,320
= 3,660
Al 3,660
XWX Z 22l X3 A 39,960 0 39,960
= 19,980
S 5,994
Al 13,986
307 2120l & 39,960 0 39,960
= 19,980
= 5,994
Al 13,986
01 A2 F=H] 39,960 0 39,960
OXIixIZ 2eldl X3 A 39,960,000 39,960
= 19,980
= 5,994
Al 13,986
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S BAUEAHALS CEREED
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2N -3 - c2(3H) - NEME - HES Ol &F2H ‘Oﬂ/i\_Fo” Hns
HAEEI I8 AX|HIS XA 31,680 0 31,680
301 Let8 A3 27,600 0 27,600
01 MZEEX 6= 27,600 0 27,600
OJtEY A X &b 100,000& *15¥ x12& 18,000
OXE E&Y| 100,000& »8H x12& 9,600
307 QI2tol A 4,080 0 4,080
01 S 2¥ &4l 4,080 0 4,080
Ogleiel=H| 50,000& x6H x12& 3,600
OS2 . &8H| 480,000&x1H 480
SURAANE JIsEZ 558,000 0 558,000
= 279,000
== 279,000
402 QI2tXI20|H 558,000 0 558,000
= 279,000
== 279,000
01 It X2EX 558,000 0 558,000
OFNLAAIE JIsE2ZAIEHl 558,000,000 558,000
= 279,000
< 279,000
AggAuy 2 22 770,457 700,201 70,256
= 600
J| 83,933
< 141,858
Al 544,066
Ao 2eAXMAHo 25 388,092 376,620 11,472
= 600
== 72,118
Al 315,374
HEHEEBIHNS 240 0 240
= 120
= 120
202 O4H| 240 0 240
= 120
= 120
01 2LH0HI 240 0 240
OFIYH2A|ALNUE S0 240,000 240
= 120
< 120
FRAGHEZ2ZA 960 720 240
= 480
= 480
307 QI2t0|A 960 720 240
= 480
= 480




SN BAL
M3 Dyusoy 2 e
Sl Yoy MY PS (25l &2
_ _ HE T
SA - EE L SR(E) - MRAY - HAS 01l &4 24 il ot o SImE=ET
VI PR S 960 720 240
OFQEAHTSLAINRI|Z 2|
960, 0002 960
= 480
= 480
2242/ 0t &I Xl AHY 112,980 112,980 0
= 56,490
Al 56,490
201 Yer2 Y| 47,000 52,000 5,000
= 23,500
Al 23,500
01 A2l 32,000 32,000 0
OY UMY SA44E 27,000,0002 27,000
= 13,500
Al 3,500
OLel2I0tS YAARE MY YXE
5,000,0002! 5,000
= 2,500
Al 2,500
02 ZZ2Y| 15,000 20,000 25,000
OYALREX XY L ALIHRXL
15,000, 0002 15,000
= 7,500
Al 7,500
206 2| 65,980 60,980 5,000
= 32,990
Al 32,990
01 HEH| 65,980 60,980 5,000
O2t2I0tEI Xl YoiotE 2 WP
65,980, 0002 65,980
= 32,990
Al 32,990
T4Y KYAL 3,000 3,000 0
= 900
Al 2,100
307 QI2H0|H 3,000 3,000 0
= 900
Al 2,100
01 22272 3,000 3,000 0
OB+ 0L 3,000,0002! 3,000
= 900
Al 2,100
sl IR 2ATALY 1,020 1,020 0
= 306
Al 714
307 QI2H0|H 1,020 1,020 0
= 306
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M FELHMY 2 2el
HR dEEuY 22 MA 2E
T PSS
SA-EFH - SA(SAH) - MREAY - BES Off &F OH 'oﬂ/\_rOH
Al 714
01 SI2€ <2l 1,020 1,020
Ostdl I FEHA LAY 1,020,000& 1,020
= 306
Al 714
ptEgdad gAXR 17,368 17,368
= 5,211
Al 12,157
206 M= dl 17,368 17,368
(= 5,211
Al 12,157
01 M=Hl 17,368 17,368
Ofiztitsggd &ootE 3 M7
17,368,000 17,368
S 5,211
Al 12,157
dEEULYE gAAE FLHIXS 28,704 28,704
= 8,611
Al 20,093
206 M=l 28,704 28,704
= 8,611
Al 20,093
01 M= 28,704 28,704
odggMe & eAASI 28,704,000 28,704
S 8,611
Al 20,093
ZistAt2tel 2,100 2,080
202 O4dl 100 100
01 =LHAOYI 100 100
OggZANES =2 (ZHE L X0IHI)
100,000 100
307 2120l A 2,000 1,980
01 A2 F=H 2,000 1,980
OZEXN2AIIsEXAEH 8,0008 *5F x50 2,000
gAA=s2e E HFE ogsE 161,220 150,048
101 1A H] 70,700 60,788
04 JIZHMIZ2XNSE =+ 70,700 60,788
(@)= 5= EN=jel el 70,700
SERASRY 70,700
S0 (=75 X&)
1,344,000& »6& 82 64,512
P ET=Eal =y 56,0003 62 8 2,688
AR AL 70,000 »1H+502 3,500
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I MewMy 2 22
Sl MUY BAMAH PE (S5l &2
FAH-FH-SASA) - NRAE - BE=Z A} OH MEE =
- o= T ° . [= Bl e =5 0:”/&,% ==
201 LBty 19,420 20,800 21,380
01 AFR 22| 11,520 10,900 620
OgALSALZUY| 7,0002 6% * 100 4,200
OgelAS0s Qe 10,0002 62 600
OYIASS Fej= S 7 120,008 +6Y 720
OFgHLE 2| 1,008 *55 1,200 6,000
02 ZZ2IH| 7,900 9,900 A2,000
OYoAg, YALSI| S AEBHISNL)
7,000,000& 7,000
OBDIAMHIARSLAESBHAM DML S
900, 000& 900
202 O4H| 1,000 0 1,000
01 =LA b 1,000 0 1,000
OdZHuY 2P o dl 1,000,000& 1,000
206 M=l 62,000 60,600 1,400
01 MH=Z=Hl 62,000 60,600 1,400
O&gHMHYE HHAS Mzl 62,000
=S5 1,400& 20,000 £ 28,000
-glgs 2,000& *2,000 £ 4,000
-goHorE o JIEHMHEY 30,000,000& 30,000
307 212t01& 2,500 2,260 240
02 QIZtBAE X 2,500 2,260 240
OXtsgdad 24| 2,500,000& 2,500
405 ItHatH S| 5,600 5,600 0
01 XL SEFHSHI 5,600 5,600 0
Osi=Eaa)] 700, 0002 8CH 5,600
SAL WA LU A2 A 60,500 60,700 A 200
307 212t01& 60,500 60,200 300
01 2L =H| 60,500 60,200 300
O LI Attl 1,200 *40,000H 48,000
O HXIAHE At 50,000& 150 7,500
O AR I 2 Atdl 20,000 100 2,000
Oblerate| AF & ALt 15,000& 200 3,000
A8 2 ool =22 23,604 19,464 4,140
| 7,452
Al 16,152
0l O] X ZI EHAl 2t €] 4,504 4,544 A40
| 2,252
Al 2,252
307 BI2HOIA 4,504 4,544 40
J| 2,252
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12
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1,120
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700
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1,120

AN420
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5,000

3,000
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5,000
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69,740
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69,673
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=X

63,000

63,000
31,500
15,750
15,750

63,436

N436

=1 @S|
=

=X

20,288
10,144
5,072
5,072

19,825

463

101

>y

20,288
10, 144
5,072
5,072

19,825

463

04

20,288,000&
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e

s
ol
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M mEgsy o
o2l HgEs2el
M- B SRl(310) - MISAR - A= Aol e
307 212t01& 98,800
01 Sl2¥+=H 98,800
ORzHYE 15,0002 1,000 15,000
L 0tOHYI 2195)
8,000& x6,000 48,000
oRg=sZ 7,700& *4,000 30,800
O S H 2503 *20,0002 5,000
HYS2HHH(E2HA) 153,857
olE2YHI(EAHA) 74,687
MNEoIAGI(EAHA) 69,327
101 14| 69,327
03 RIHAZZ2NHE > 69,327
OS2l X ZA 25,120
-Jla3 966,460 x1H +12& 11,598
-&02 11,597,520 & 14 *1/3 3,866
=Jret32 11,597,520 & » 12 %0, 1 1,160
“AZ2te 2R+ 8,320& x 1H »x22A| 2hx12& 2,197
-SYI2Rg 66,6003 x1H 2«12 1,599
-AXRSFIotE 44,4003 x 18«16 71
=54 44 4003 »1H +52=F 2,309
—ZUZ A 80,0003 x1HE«12& 960
-—wWEs2 Il 60,0003 x1H~12& 720
O aHelA 25,618
-JleEg 966,460 x1H « 122 11,598
-&0= 11,597,520 3 *1H *1/3 3,866
-Jtet3 11,597,520 »1Z +0. 12 1,392
-AzZtel=g 8,320 3 x1G #22 A 2tx 12 2,197
-5e2RE 66,6002 1H 2«12 1,599
-AXlRasit=g 44 4003 x1H 22 977
=54 44,4003 x1H »52 2,309
-~ Z A 80,0003 x1E*12& 960
-~ S 2| 60,0003 x1HE*12& 720
OOIAHHE=0] 18,589
-JlEs 734,800 x1H« 122 8,818
-& 3 8,817,600 x 14 *1/3 2,940
-ANzZtel =< 6,330 x 1Z #22A| 2+ 123 1,672
-R222=H 50,6403 x 1«2« 12 1,216
-AsasSsit=g 33,7603 x1H x15¢ 507
-FgsE 33,7603 «1H «52== 1,756
-Zagaldl 80,0003 x1H¥+12& 960
-wWEE LI 60,0003 x1H+12& 720
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